CHAPTER 6
Applications of the Derivative

SECTION 6.1
6.1.1 Find the extreme values for f(z) = g + 2 on the interval [0, 100] and determine where those occur.
6.1.2 Find the extreme values for f(z) = 2z® — 32% — 12z + 8 on the interval [-2, 2] and determine where
those values occur.
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6.1.3 Find the extreme values for f(z) = 3 z? — 3z + 1 on the interval [-1,2] and determine where
those values occur.
6.1.4 Find the extreme values for f(z) = 22 — 32% — 122 + 5 on the interval [0,4] and determine where
those values occur.
6.1.5 Find the extreme values for f(z) = 2® — 622 + 5 on the interval [—1,5] and determine where those
values occur.
6.1.6 Find the extreme values for f(x) = 23 + g:::2 — 18z + 4 on the interval [0,4] and determine where
those values occur.
6.1.7 Find the extreme values for f(z) = z — sinz on the interval [_7_21-’ 12{] and determine where those
values occur.
6.1.8 Find the extreme values for f(z) = 12?3 on the interval [1,1] and determine where those values
occur.
6.1.9 Find the extreme values for f(z) = 2secx — tanz on the interval [—%, %] and determine where
those values occur.
6.1.10 Find the extreme values for f(z) = % — 3z/% on the interval [—1,8] and determine where those
values occur.
6.1.11 Find the extreme values for f(z) = a:;/—f 3 on the interval (0, +o00) and determine where those
values occur.
6.1.12 Find the extreme values for f(z) = _21:_1 on the interval [0, 2] and determine where those values
occur. . =+
6.1.13 Find the extreme values for f(z) = 1 -||:-E||x| on the interval [0,4+00) and determine where those
values occur.
1
6.1.14 Find the extreme values for f(z) = 5 on the interval (0,1) and determine where those values
occur. -z
2 z<0
6.1.15 (—00,+00) and determine where those values

Find the extreme values for f(z) = {

occur.
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6.1.16

6.1.17

6.1.18

Questions, Section 6.1

-z —1 < ~1
Find the extreme values for f(z) = {1~2> -1<z<1 on the interval [-2,+2] and deter-
: -1 r<l1
mine where those values occur.
1-z2 <0

Find the extreme values for f(z) = { on the interval [—-2,1] and determine where

-1
those values occur.

Find the extreme values for f(z) = |3 —2z| on the interval [—2, 2] and determine where those values
occur.



